
Expanding Single Brackets
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1 Expand the following:

1(a) 2(𝑒 − 8)

[1 mark]

Answer

1(b) 4(𝑐 − 6)

[1 mark]

Answer

1(c) 4(𝑑 + 7)

[1 mark]

Answer

1(d) 6(𝑡 + 7)

[1 mark]

Answer

1(e) 2(3𝑝 − 8)

[1 mark]

Answer

Turn over for next question

Turn over ►

5
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2 Expand the following:

2(a) 2𝑝(𝑝 − 9)

[1 mark]

Answer

2(b) 6𝑎(𝑎 + 4)

[1 mark]

Answer

2(c) 5ℎ(3ℎ − 2)

[1 mark]

Answer

2(d) 2𝑒(2𝑒 + 9)

[1 mark]

Answer

2(e) 2𝑝(5𝑝 − 4)

[1 mark]

Answer

Turn over for next question

Turn over ►

5
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3(a) Which of the following is the expanded form of  5(3𝑎 − 8)

[1 mark]

8𝑎 − 3 15𝑎 − 13 15𝑎 − 40 25𝑎

3(b) Which of the following is the expanded form of 5𝑥(3𝑥 + 10𝑦)

[1 mark]

15𝑥2 + 50𝑥𝑦 15𝑥 + 50𝑥𝑦 8𝑥2 + 15𝑥𝑦 8𝑥 + 15𝑥𝑦

3(c) Which of the following is the expanded form of  8𝑛(3𝑛² + 3𝑛)

[1 mark]

24𝑛3 24𝑛2 + 24 𝑛2(𝑛 + 24) 24𝑛2 + 24𝑛3

3(d) Which of the following is the expanded form of xy(𝑥 + 4)

[1 mark]

𝑥2 − 2𝑦𝑥 − 24 𝑥2𝑦 + 4𝑥𝑦 𝑦𝑥2 − 10𝑥 − 24 𝑥2 − 24

Turn over ►

4
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4(a) Which of the following is the expanded form of  𝑚(𝑚 + 5) + 𝑚(𝑚 + 7)

[1 mark]

𝑚 + 12 2𝑚2 + 12 2𝑚2 + 12𝑚 2𝑚2 + 35

4(b) Which of the following is the expanded form of  𝑎(𝑡 + 4) − 𝑎(4 − 3𝑡)

[1 mark]

4𝑎𝑡 + 4𝑎 𝑎𝑡 + 3𝑡 𝑡𝑎 − 3𝑡 4𝑎𝑡

4(c) Which of the following is the expanded form of 4𝑎3 7𝑎𝑏 − 8𝑏2

[1 mark]

11𝑎4𝑏 − 4𝑎3𝑏2 28𝑎4𝑏 − 32𝑎3𝑏2 28𝑎3𝑏 − 32𝑎3𝑏2 28𝑎4𝑏4 − 32𝑎3𝑏5

4(d) Which of the following is the expanded form of 4𝑥(3𝑥 − 𝑥²) − 2𝑥²(4 − 5𝑥)

[1 mark]

4𝑥2 + 6𝑥3 12𝑥2 − 4𝑥3 12𝑥 + 8𝑥2 3𝑥(𝑥 + 2)

Turn over ►

4
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5(a) Expand and simplify the following expressions:

5 3𝑥 − 7 + 3(𝑥 + 2)

[2 marks]

Answer

5(b) 𝑦 2𝑦 + 3 − 𝑦(2𝑦 − 3)

[2 marks]

Answer

5(c) 7𝑥 8𝑥 − 3 − 2𝑥(𝑥 + 10)

[2 marks]

Answer

Turn over ►

6
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6 Expand and simplify the following expression

6𝑥𝑦 2𝑥 − 4 − 4 5𝑥2𝑦 − 8𝑥𝑦

[2 marks]

Answer

7 Mr Jenkins walks 𝑥 km to work each day. 

Mr Taylor cycles twice as far as Mr Jenkins and then an additional 5 km more to get to 

work. 

They both return home after making the same journey back.

7(a) Write the expression, in the form a 𝑏𝑥 + 5 , for how far Mr Taylor cycles each day.

[2 marks]

Answer

7(b) Expand the expression for Mr Taylor.

[1 mark]

Answer

End of Questions

END

5
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